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2.3. SUM R &

W IORE - {HOIFTE S [ EHI4EAT -

W :EA L SUM(BCE 1,87 2,..)

m R

(1). 85 1,85 2 ZHAGHEAERINS (% > 5% 30 ([ -
(2). 5IEFHEEHF - AgRIE S -

W EHif  FEFER H2 VAR =SUM(B2:G2)

H2 ] B ) = | -sumeze2
A B c D E F G
1
A AZTE 18,700 17,400 1,100 34,000 49,400 46,700 | 167,300
3 |BR 2,400 5,800 1,700

2.4. AVERAGE R 2]

W DjEE ¢ EHEEEARRYEEE -

W 5k AVERAGE(HIF 1,55 2,..)

W R

(1). %5 1,87 2 &1 2 30 (@REIEEIEANE TS % -
(2). 5#EPEEFE T AERIE S -

m FHf] - GEFRE 12 A A=ROUND(AVERAGE(B2:G2),1)

fr ), = -ROUNDAVERAGE(2G2)1)
A B c D E F G H
1
M AETHE 18,700 17,400 1,100 34,000 49,400 46,700 [ 167,300 27,883
MY 2,400 5,800 1,700
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2.5. ROUND R &

W UJRE  RFEERVALEL o SRR AR -

W ;5% : ROUND (B, 51Hir)

W :RAA

(1). 5 2% - ZUSH AT -

(2). 5tz #EH - DUk A ABETRIALEL -

W #if] - EEFRS 12 9 =ROUND(AVERAGE(B2:G2),1)

12 B fy z = | |=ROUND{AVERAGE(B2:G2),1)
A B C D E F G H
l H |
D AETE 18,700 17,400 1,100 34,000 49,400 46,700 167,300 27,883
3 |ER 2,400 5,800 1,700
A 2]
mmen | on ||
2.6. COUNT R 21 2 |HEeTH 18,700
JRTRN N . 3 |EE 2,400
W OIHAE ¢ SRS R B e (Y - T o0
W 5% COUNT(fH 1,18 2,...) s w8
6 [IEEHR 47.700
. %“I\E : r
RH 7 | fRAf, 700
(1). 1,2 £ 1% 30 HehSEERERE % - s [ 3,200
(2). HEHBEER > 8 - ° [RRd
10 |BREE 39,200
W §if : FHFR BL5 VAT =COUNT(B2:B12) 1 (g 47,000
12 3EETHAE 10,700
13
14
]
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2.7. MAX ER B

W IigE ¢ 58
W EL  MAX(BT 1,8F 2,...)
m R

=iz B

py=p=E=N

ECKIE -

(1). 85 1,85 2 2 1 2 30 (AZHAE = B A ERVE TS 8-

(2). Sl EER T > Qg RIS -

W i FEFER 12 AR =MAX(B2:G2)

AX(B2:52)

F DR =|w

1
2 AETA

18,700

C

17,400

1,100

34,000

49,400

46,700

49,400

2 |TEE

2 AQN

[ *TaTal

1 700

2.8. MIN ]

W IRE ¢ {H[E5 8

NS

y=p=En

AyEIME -

WL MINCBT 1,805 2,...)

m

(1). 8 1,85 2 2 1 % 30 (EZHAE = R MERVE TS 18 -

(2). 3B EaA T  HIEAE T -

W E  #EES K2 B9 =MIN(B2:G2)

@ X & 2 = -MnEz62
A B c

1
AAETE

18,700

17,400

D

1,100

34,000

49,400

46,700

1,100

3 [ER

2,400

5,800

1,700
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2.9. COUNTA R 2]

W TfE ¢ ETES [BOE R P EERI(EE -
m 7% - COUNTA(E 1,18 2,...)
u

W ] GRS B14 AR

=COUNTA(A2:A12)

2.10. COUNTBLANK ER£]
B IR EFR
HYEH -

W :Z% © COUNTBLANK(#iE)
WS EE e EETRE

H AR H AV EE -
) ¢ EEFEEE B16 VAT Ay
=COUNTBLANK(B2:B12)

i E 0 B 22 R S

e

RUPE L2 R 1 30 [HEIE -

Bl4 = & z = ||=COUNTA(A2:A12)

A .. C D
1
2 |E&TH 18,700 17,400 1,
3 |EE 2,400 5,
4 T & 29,400 13,400
5 |ZA 800 | 31,
e 47,700 12,500 35,
7 |[{hAR 700 | 39,200 3,
8 |'EikiHE 3,200 48,300
o R 16,300 32,
10 |fRE% 39,200 21,200
11 |EE5E 47,000 | 24,700 16,
12 |EHHE 10,700 2,100

11

E [ -4 E = | =COUNTBLAMK(B2:B12)

A B C )
1

2 |AgTHE 18,700 17,400 1,100
3 R 2,400 5,800
4 | InT e 29,400 13,400
5 | B 800 31,000
6 |IBEHGR 47,700 12,500 | 35,400
7 | {Ed 700 | 39,200 3,400
8 |EiksE 3,200 48,300
9 SR 19,300 32,300
10 | B3 39,200 21,200
11 |58 47,000 | 24,700 16,700
12 |EEEHHA 10,700 2,100

11
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2.11. RANK.EQ R

W IOAE {EBEAIE Z F5E - AR LN —EEAHEESE - ANEEEZ AR = FE -
W 5% RANK.EQ(H , &R, FHY)
m EEA
(). = - FEHEFEE -
(2). &R EE o BEARRRYE RIS -
(3). 88 M - FEMHEF T o 0 SEIEERRIIEFHES - HMFrEIE 0 iV ERR
I HEE
W ) EEFASHI H2 B9 =RANK.EQ(F2,$F$2:$F$11)

H2 7] £ 2 = -RANKEQF2SFS25FS1])
A B c D E F G _.d_
1 FE R B2 37 & Hiat Hry Fi #x | #
:’ TR E 95 92 77 86 350 87.5 8
3| FEHEE 97 92 83 93 365 91.3 3
4| BHE 89 82 94 89 354 88.5 6
5 | ERHLE 99 92 77 88 356 89.0 5
6 | AT 89 90 94 97 370 92.5 2
7 | FEEE 94 73 88 94 349 87.3 9
8 | EEEB® 81 93 93 94 361 90.3 4
s | HELC 95 92 97 90 374 93.5 1
10| FEEE 88 95 89 82 354 88.5 6
11| FE=EE 92 100 68 77 337 84.3 10

2.12. IF EREK

W IORE ¢ fEE S THYE AR T -

W B IF(eE, REE , HAE)

m S
(1)t % - —(EEEE{ERER - &R ] LUE TURE =¢ FALSE -
(2).1&&EEH BEH - WFREBE T R TRUE AIEEREE -
(3). B BEH - AIFEEEfwC Ry FALSE RIEH[E e #E -

W E  EEE 12 (VAR =IF(G2>=90,"#","")

12 = & 2 = | -FG2>-908"
A : < = £ & G H e |
1| 3 B BT it gy P4y #x | wE | Y
} A & 95 92 77 86 350 87.5 8
3 TR 97 92 83 93 365 91.3 3 Eiy

12
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2.13. AND R &

W UjRE  WISRFTE S [#E 2 TRUE All{EE TRUE -

W AL AND(ZETR(E 1, #EE 2,..)

W ORI EEEEE 1, BEEE 2 RERM 1 E 30 [ERE FR{FZEEE TRUE 5¢ FALSE -
WG RS 32 IR

12 v & 2 = |-rFanpE2>-00C25-00,"8""
A B C D E F G H J I __.d__
1 HE Bl W7 ] wat e T HR FlEE | FER
(W e | o5 | o2 | 77 | s | 30 | 875 i
3| R 97 92 83 93 365 91.3 &

2.14. VLOOKUP R &

B Uifs ¢ EEEEMERS TR HA RS

W 3E7L ¢ VLOOKUP(# =, %I, &5l HiF%)

m R

(1). =R 2% - FEE—ERAE -

(2). FEF] R - 208 AR S E -

(3). &5l W - MHINHIRES5E -

(4). HeFpE A - A{E2E TRUE B0gATEM @ RIS RS =M A T P HET -
W G - EREFERS C3 AZUE =VLOOKUP(B3,$1$3:$L$11,2,0)

c3 E e E = |=VLOOKUPE3,$J$3:50511,2,0)
| A | B e D
2015/10/01] AA1001 > EEAN
4 2015/10/01| CC1001 |IEs¥iH =]
5 2015/10/02| BB2003 |H&{% 2fE
6 2015/10/02| AA1002 |ETEZ SRR
7 2015/10/02| BB2001 |Ef9f2E SHE
8 2015/10/03| CC1003 |{EBsiAE BR L
9 2015/10/03| AA1001 |EAB#E =55
10 | 2015/10/04| CC1003 |{EESAE 10

13
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2.15. COUNTIF & 2]

W AR ¢ SRS REIEEFREE -

W ZEE © COUNTIF(FEE, 1%M4)

m R

(1). #[E 2= - FHEHEE BRI R EE -
(2). & 0 - BV AR -

W ] (EEEERS H3 VAR =COUNTIF($D$2:$D$780,G3)
H3 v & z = | =COUNTIF($D$2:5D$780,G3)
A B c D E F G I
1 H & 2B IE] Bfy | ¥%%8 | ZB2E - I
2 | 2011/01/01|FREALH 1 3 1,626 ~ IEZEAEEE
] 2011/01/01| R e EREIRAR 1 BRARAR 9,353 FNEE 97
4 | 2011/01/01 1 EEHEEEN 1 T/ 3.025 By

2.16. COUNTIFS &£

B AR - SRS EEE TS L ERENETEEE -

W ZE7L C COUNTIFS(EEE 1, %M 1, ®E 2, &4 2,...)

W REA

(1). #oE 1 BdEE 2 EaHdTEE Ry E -

(2). &R 1 Ba{RM: 2 ERTd+E e dE IR -

W ) fEREERS K3 AT =COUNTIFS($D$2:$D$780,G3,$C$2:$C$780,K1)

K3 B ﬁg E = | =COUNTIFS(5D%2:3D%780,G3,5C32:5C5780,K1)

A B c D E F [ 1 | 1 emess
E TEAT Hiy | 58 | 25e8 4 15
2 | 2011/01/01|HEEEAT 1| Ak 1,626 KB | WERE | TEERE | RRRE | @y

] 2011/01/01|BEEFEHFRLT 1 BRIAAR 9,353 FPHE 10
4 | 2011/01/01 | FFE#REEEAE 1 T 3.025 =4

14
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2.17. SUMIF &£

W IRE ¢ R R E RIS (B S8R -

W 355 1 SUMIF(HE, R, “erHiE)

m R

(1). #E 2= - ZHREREI RS HEIE -

(2). tF W - EFEEEFSEEIRE RS -

(3). #EFnEE ~ BEH o FRESTEANAEESEE

Wl RS 13 1VATE =SUMIF($D$2:$D$780,G3,$E$2:$E$780)

13 E ﬁ E = | |=SUMIF(3D%2:5D0%780,G3,$E52:3E5720)
A B C D E F ]
1 B BT By | %78 | T5LE o 24
2 | 2011/01/01|5A5EMAT 1| ZA 1,626 WERE | WREE | T
:H 2011/01/01 | BE&FIRGER LT 1 SERRAR 9,353 FNH 304,871
4| 2011/01/01| B EHEGEAT 1| FoEg 3,025 AT

2.18. SUMIFS X &

W IR S R R S R BT AR S TR -

W % | SUMIFS(UIR, & 1, ek 1, 58 2, (6 2,..)

m i

(1). YOMIEE % o AR A -

(2). W EE 2 o R AT -

(3). fRfF 1 BRIF 2 % o REPSTERATISE T -

W G G L3 MR
=SUMIFS($E$2:$E$780,$D$2:$D$780,G3,$C$2:$C$780,$K$1)

L3 E| ﬁg E = =SUMIFS($E$2:3E5780,5D52:3D5780,G3,5C52:3C5780,5K51)
A B c D E F | 1 ] 1 K e |
1| EE R B | 2%E | 358 e 1E
2 | 2011/01/01 EiEETAT 1| 1,626 |omn | TORBE| RERE | WERE |7
] 2011/01/01 BEEREHERLT 1 JEARAR 9,353 26,991
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